Quadratic Function (Vertex Form) Clui@
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1.) Write a quadratic equation in vertex form
ifa=-8, h=3andk = 4.

Y= -%(x -—'3324 H

2.) Identify the vertex of the quadratic
function: ¥ = -1(x + 3)°
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What does the (-1) in the equation represent
o=-1, %o Pa{lbo,a opens J‘dl—-‘”-

Vefhex iS5 a maximum.

3.) Graph the equation. Label the vertex and
axis of symmetry. Show your table of
values.

Y=-(x+27+4 .
| -3
T 0|0

v

'g,,
J
'.
f-,'l~
-
'.
!
\

4.) Graph the equation. Label the vertex and
axis of symmetry. Show your table of values.
Y=2(x-1)¢-5 %
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5.) Use the graph and the given equation to
find a quadratic equation in vertex form.

>
(_\,5)\")1 V== (x¥2) +|
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a=-1
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6.67

6.) Use the graph and the given equation to find

a quadratic equation in vertex form.

=4 (x¥3)™-3

a=-4

6.67
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